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Question 1
Question Type: MultipleChoice

Examine the description of the BOOKS_TRANSACTIONS table:

Options: 
A- WHERE borrowed_date = SYSDATE AND transaction_type = 'RM*) OR member_id IN ('A101', 'A102');

B- WHERE borrowed_date = SYSDATE AND {transaction_type = 'RM* AND (raeraber_id = 'A101' OR member_id = 'A102));

C- WHERE borrowed_date = SYSDATE AND (transaction_ype = 'RM' AND .-neraber_id = 'A101' OR member_id = 'A102');

D- WHERE borrowed_date = SYSDATE AND (transaction_type = 'RM* OR member_id IN ('A101', 'A102'));

E, WHERE borrowed_date = SYSDATE AND transaction_type = 'RM' OR member_id IN ('A101', 'A102');

Answer: 
A, D



Question 2
Question Type: MultipleChoice

Which two statements are true about substitution variables?

Options: 
A- A substitution variable prefixed with & always prompts only once for a value in a session.

B- A substitution variable prefixed with to prompts only once for a value in a session unless it is set to undefined in the session

C- A substitution variable can be used only in a select statement.

D- A substitution variable used to prompt for a column name must be enclosed in single quotation marks.

E- A substitution variable can be used with any clause in a select statement.

F- A substitution variable used to prompt for a column name must be enclosed in double quotation marks.

Answer: 
B

Question 3



Question Type: MultipleChoice

View the Exhibit and examine the description of the tables.

You execute this SQL statement:

Which three statements are true?

Options: 
A- The statement will fall if a row already exists in the sales table for product 23.

B- The sales table has five foreign keys.

C- A product can have a different unit price at different times.

D- A customer can exist in many countries.

E- The statement will execute successfully and a new row will be inserted into the sales table.

F- The statement will fail because a subquery may not be contained in a values clause.

Answer: 



B, C, E

Question 4
Question Type: MultipleChoice

Which two statements are true?

Options: 
A- SALES1 has not NULL constraints on any selected columns which had those constraints in the sales table.

B- SALES1 has primary key and unique constraints on any selected columns which had those constraints in the sales table.

C- SALES1 is created with 55,000 rows.

D- SALES1 is created with no rows.

E- SALES1 is created with 1 row.

Answer: 
A, C



Question 5
Question Type: MultipleChoice

The sales table has columns prod_id and quantity_sold of data type number

In two queries execute successfully? x

Options: 
A- SELECT prod_id FROM sales WHERE quantity_sold > 55000 GROUP BY prod_id HAVING COUNT(-) > 10;

B- SELECT prod_id FROM sales WHERE quantity_sold > 5S000 AND COUNT(-) > 10 GROUP BY prod_id HAVING COUNT(-) > 10;

C- SELECT COUNT|prod_id> FROM sales WHERE quantity_sold > 55000 GROUP BY prod_id;

D- SELECT COUNTlprod_id> FROM sales GROUP BY prod_id WHERE quantity_Sold > 55000;

E- SELECT prod_id FROM sales WHERE quantity_scld > 55000 AND COUNT(-) > 10 GROUP BY COUNT(-) > 10;

Answer: 
A, C

Question 6



Question Type: MultipleChoice

Which three statements are true about the Automatic Diagnostic Repository (ADR)?

Options: 
A- It Is held Inside an Oracle database schema.

B- The ADR base is specified In the diagnostic_dest database parameter.

C- It is only used for Oracle Database diagnostic information.

D- It is a file-based repository held outside any database.

E- It can be used for problem diagnosis of a database when that database's instance is down.

Answer: 
A, B, D

Question 7
Question Type: MultipleChoice

Which three statements are true about Deferred Segment Creation in Oracle databases?



Options: 
A- It Is supported for Index Organized Tables (IOTs) contained in locally managed tablespaces.

B- Sessions may dynamically switch back and forth from deferred to immediate segment creation.

C- It Is the default behavior for tables and indexes.

D- It is supported for SYS-owned tables contained in locally managed tablespaces.

E- Indexes inherit the deferred or immediate segment creation attribute from their parent table

Answer: 
B, C, E

Question 8
Question Type: MultipleChoice

Examine the description of the PRODUCT_STATUS table:



The status column contains the values 'in stock' or 'out of stock' for each row.

Which two queries will execute successfully?

Options: 
A- SELECT prod_id Il q''s not available' FROM product_status where status = 'OUT OF STOCK';

B- SELECT prod_id II q'l's not available)' FROM product_status WHERE status = 'OUT OF STOCK';

C- SELECT prod_id 'CURRENT AVAILABILITY' II q'<'s not available)' FROM product_status WHERE status = 'OUT OF STOCK

D- SELECT prod_id I I q' (*s not available)' 'CURRENT AVAILABILITY' FROM product_status WHERE status = 'OUT OF STOCK

D- SELECT prod_id I I q' ('s not available) * 'CURRENT AVAILABILITY' FROM product_status WHERE status = 'OUT OF STOCK

E- SELECT prod_id q's not available' FROM product_status WHERE status = 'OUT OF STOCK*;

Answer: 
B, D, D
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